COVER SHEET

										_	_	9		_	0 :	2	2	8	3
							SEC	Re	gist	rati	on l	Nur	nbe	r					
D M C I H O L D I N	N G S	,	IN	C															
																T			
	(Co	mpar	ıy's Fı	ıll Na	ame)								1					
3 R D F L R . D A C	CON		B L	D	G			2	2	8	1		T		1	T			
PASONG TAMO			т	М	Α	K	Δ	Т	T		С	T	İΤ	Tv	/	İ			
	<u> </u>	1 1	<u>' ·</u>	1 1 1		IX		'		l		1 -	<u> </u>	'		<u> </u>			
(Business A	ddress:	No.,	Street	t Citv	/ / T	ow	n /	Prov	/inc	e)		1							
		,														_			
HERBERT M. CONSUNJI Contact Person				[Co	mn	any		8-3 lent			umh	ner					
contact i cison						-	πıρ	arry	10	СРІ	10110	- 14							
													(3	rd V	Ved	lne	sda	у о	f May
1 2 3 1	SEC F	orm	17-C								0	5			1	7			
Month Day	FORM ⁻	TYPE										nth		_	Da	ау			
Fiscal Year						1			P	ınnı	ıaıı	меє	eting	9					
Son	condary	Licon	N.A.	no I	fΛr] India	ahl	2											
	Coridary	LICCII	JC 1 y	рс, 1	ιдμ	plic	Jabi												
C F D			Δ.,		lod /	۸ ₁₄ +1	alaa	Ni	b	nu /	Car	ti o							
Dept Requiring this Doc				nend 								LIO	11						
	Г		<u> </u>	otal	Am	oun	it of	Boi	rov	ving	JS				1				
Total No. of Stockholders		Do	omest	ic			L			For	eigr	1							
To be acco	omplish	ed b	y SEC	Pei	sor	nne	l co	nce	rne	ed									
File Number				LCU															
Document ID	_		Ca	shie	r			_											
STAMPS																			
	marker	Dlose	0 1100	DI A	CV:	nl: 4	For 1		nin	a -		000	C						
į Ke	emarks:	rieas	e use	DLA	CK I	IIK I	OF S	scan	nın	y p	urp	use	5						

SECURITIES AND EXCHANGE COMMISSION

SEC FORM 17-C

OF THE SECURITIES REGULATION CODE AND SRC RULE 17.2(c) THEREUNDER

1.	<u>June 15, 2023</u>
	Date of Report (Date of earliest event reported)
2.	SEC Identification Number AS095-002283 3. BIR Tax Identification No. <u>004-703-376</u>
4.	DMCI Holdings, Inc. Exact name of issuer as specified in its charter
5.	Philippines Province, country or other jurisdiction of incorporation 6. (SEC Use Only) Industry Classification Code:
7.	3/F Dacon Building, 2281 Chino Roces Avenue, Makati City Address of principal office 1231 Postal Code
8.	(632) 8888-3000 Issuer's telephone number, including area code
9.	Not applicable Former name or former address, if changed since last report
10.	Securities registered pursuant to Sections 8 and 12 of the SRC or Sections 4 and 8 of the RSA
	Title of Each Class No. of Shares Outstanding Amount
	Common Shares 13,277,470,000 Php13,277,470,000.00
	Preferred Shares 960 960.00 TOTAL 13,277,470,960 Php13,277,470,960.00
11.	Indicate the item numbers reported herein: <u>Item 9</u>

Item 9. Other Events

In compliance with the Revised Disclosure Rules of the Philippine Stock Exchange (PSE), we hereby report the following DMC shares bought/sold by Isidro A. Consunji, Director, Chairman and President of the Corporation:

Transaction Type	Date	No. of Shares	Price/Share (Php)	Amount) (Php
Bought (Indirect)*	June 14, 2023	5,000	9.46	47,300.00
Bought (Indirect)*	June 14, 2023	5,000	9.47	47,350.00
Bought (Indirect)*	June 14, 2023	5,000	9.48	47,400.00
Bought (Indirect)*	June 14, 2023	5,000	9.56	47,800.00
Bought (Indirect)*	June 14, 2023	5,000	9.57	47,850.00
Bought (Indirect)*	June 14, 2023	5,000	9.58	47,900.00
Bought (Indirect)*	June 14, 2023	5,000	9.59	47,950.00
Bought (Indirect)*	June 14, 2023	10,000	9.44	94,400.00
Bought (Indirect)*	June 14, 2023	10,000	9.45	94,500.00
Bought (Indirect)*	June 14, 2023	10,000	9.50	95,000.00
Bought (Indirect)*	June 14, 2023	10,000	9.52	95,200.00
Bought (Indirect)*	June 14, 2023	10,000	9.54	95,400.00
Bought (Indirect)*	June 14, 2023	10,000	9.60	96,000.00
Bought (Indirect)*	June 14, 2023	10,000	9.61	96,100.00
Bought (Indirect)*	June 14, 2023	10,000	9.65	96,500.00
Bought (Indirect)*	June 14, 2023	15,000	9.53	142,950.00
Bought (Indirect)*	June 14, 2023	15,000	9.55	143,250.00
Bought (Indirect)*	June 14, 2023	15,000	9.64	144,600.00
Bought (Indirect)*	June 14, 2023	25,000	9.51	237,750.00
Bought (Indirect)*	June 14, 2023	30,000	9.62	288,600.00
Bought (Indirect)*	June 14, 2023	35,000	9.63	337,050.00
Total		250,000		2,390,850.00

^{*}controlling shareholder of a corporation

SIGNATURES

Pursuant to the requirements of the Securities Regulation Code, the issuer has duly caused this report to be signed on its behalf by the undersigned hereunto duly authorized.

<u>DMCI Holdings, Inc.</u> Issuer Herbert M. Consunji

Executive Vice President & Chief Finance Officer

June 15, 2023